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=) UPCOMING ONLINE BATCHES

02 NOV 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

02 NOV 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

November 2022

09 NOV 2022 16 NOV 2022 23 NOV 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org e  7052477777/7052577777



Real Champs-

Niharika Jha 20 hours ago

Tanu Jain
Homework A
Thank you sir

Zikra Yasmeen

Option 2

Kajal Singhal 13 hours ago

Home work ans 7.29




33, 37, 46, 62, 387,

123, ?

1.187
2.172
3.192
4.182
5.177




11,

10,

18, 51, 2, 995

1.209
2.204
3.200
4.206
5.202




18, 8,

10, 22, 73, 2

1.356
2.323.5
3.375
4.327
5.354




27, 28, 37, 62, 111, ?

1.164
2.172
3.192
4.211
5.NOT



7,

14, 42,

168,

340, 7

1.4960
2.5080
3.5040
4.4920
5.NOT




(24.99% of 250 x 3.95) + (21.05% o1 300 —49.99) =7 — 19.99% of 40

1.271
2.180
3.342
4.296
5.389




60% of 320 + 50% of 190 - 57% of 350 =7?

1.82.5
2.62.5
3.87.5
4.92.5
5.77.5




V512 -N361 + 72 = 19 x \[?

1.2
2.4
3.8
4.16
5.9




Directions: Study the following pie-graphs carefully to answer the questions given below.
Pie-Chart shows the number of Washing Machine sets manufactured by a Company in first six

months of two consecutive years 2014 and 2015. ‘
fader: &R fgu o g4t & 3R & & v Al us-ars &1 waagds reaga w -
AR & auf 2014 3R 2015 & Uedt ©F HAeldl A Th dUaT gRT AT arfier #he det & gxan

Y SATAT &

IN 2014 IN 2015
TOTAL = 35000 TOTAL =45000




Find the difference between the number of washing machines produced in the month of May in
the year 2014 and 2015?
9 2014 3R 2015 § 03 & AE H Icariad AT aehi=t it Tt o o= 1 7at Fd Hifvar

IN 2014 IN 2015
TOTAL = 35000 TOTAL = 45000

1.5000
2.6000
3.1500
4.0

5.NOT




What was the approximate percentage increase in the production of washing machines in the

month of March from 2014 to 2015?

2014 € 2015 o HT= o Fa 1= H SR A o6 3cdTa § STATHA TiaRrd g s off?

IN 2014
TOTAL = 35000

IN 2015
TOTAL = 45000

1.18%
2.27%
3.20%
4.25%
5.34%




What 1s average of the production of Washing Machines in January 2014 and the production of
Washing Machines in the same month in 2015?

ST 2014 T ST A0 o6 Icqre 3T 2015 | IET 7 | ST 73 o6 Icqre- 6t 39d T 27

IN 2014
TOTAL = 35000

IN 2015
TOTAL = 45000

1.4475
2.4754
3.4575
4.4457
5.4745




What is the ratio between the total number washing machines manufactured in the month of January
and February in 2014 to total number washing machines manufactured in month of May and June in

20157

2014 ¥ ST TR BRT o Ta § iU STreiT HRiHr ol et €t 31K 2015 § 7% 7R S o 7 # ffa
TR T 3T St T ohT STUTT T &2

IN 2014 IN 2015
TOTAL = 35000 TOTAL = 45000

1.108 : 119
2.108 : 110
3.119: 108
4.109 : 108
5.NOT




In 2014, number of Washing Machines manufactured in the months of February and March together
1s what percent of the number of Washing Machines manufactured in the same months together in

20157
2014 H, Bt 3T H o AT | [Aida sy g3y & g3, 2015 5 99 9841 ° Hfda anfim aeiar
&1 T fehaHT Ifaera 22

IN 2014 IN 2015
TOTAL = 35000 TOTAL = 45000

1.66.00%
2.89.75%
3.77.77%
4.72.25%
5.69.00%




30x?—59x +28=0

Oy* -9y +2=0

1.x>y
2.X2YV
3.X<y
4.xX<y
5.CND or

X=Yy



49%x*+49x + 12 =0

49y* + 77y + 18 =0

1.x>y
2.X2YV
3.X<y
4.x<y
5.CND or

X=Yy



10x?+7x+1=0

6y* + 7y +2=0

1.x>y
2.X2YV
3.X<y
4.x<y
5.CND or

X=Yy



Table represents the number of shoes manufactured and percentage of defective
shoes manufactured by company X and Y.

dTferehT et X 3R vgRT fAfdid S & F&am 3R Qugel sfd & gfaerd &
ufafafdca &

orts | o ot | o o




Average number of shoes that are non-defective 1n the month of March & April

manufactured by company X?

T X R HIHT A=l S 310 o HE W IS990l S{dl ohl 3TTd GeaT?

January
February
March

April

M

ay

5000

10%

0
40

%

5%

25
40

%
%

\c / G : >
[5 /J . P /
4’/\ =

Defective Y

1.3900
2.2300
3.1400
4.3500
5.1700



Number of shoes that are defective reduced by approximately what percent in the month of
March as compared to the month of January by company X?

ST X G SHORT o Ha = 3! qoi1 H AT oh Hal- H GIe STl sht §&d1 H T fehd Tiererd shi

T TS 27

m Total X Defective X Total Y Defective Y

May

1.53 %
2.63 %
3.50 %
4.74 %
5.90 %



Out of total shoes manufactured in April by company X & Y, the number of sports shoes are Y of the

total shoes manufactured, then how many other types of shoes are manufactured in April?

T X & Y ET 39S | T et St H §, TICH S shl AT HIHd et ST T 1/4 8, 1 319 § fohd 31

ST o S ST ST &7

m Total X Defective X Total Y Defective Y

May

1.2500
2.7500
3.3500
4.1000
5.1500



In February , company Y did not sell the 70% of the shoes ,which are non-defective shoes. How P\
many shoes in February not sell by the company despite the non-defective shoes ?

lb{omﬁ I Y 70% ST &l s, ST T-EINq0] STd 8| HEe! H hut g I-SI9Y S{d o SIS

ExE Wld S M| CE a?

1.1200

* Months | TotlX | DefectiveX | TotalY | Defectve v | IPYTe
3.1300
4.2>20
5.1000




Average cost of manufacturing the shoes 1s Rs.300 per pair then ,Find the total loss suffered by
company X due to defective shoes?

STd o =AT0T 3ht STHd AT 300 TR S ST €, T AIMqUT STl o shR0T shuHT X <hl B% el BT 1
%ii\am

.Rs. 13,50,000
.Rs. 11,00,000
.Rs. 5,00,000
.Rs. 6,00,000
.Rs. 7,50,000

\c . G . o
e ) ). P ;
4’/\ =

January 4000 3000 10%
February 5000 6000 40%

March 3000 3000 5%
April 6000 4000 25%
May 5000 2000 40%

o B WIN -




Tap Y can fill a cistern 7 times as fast as tap X and takes 48 minutes less than tap X to fill the
cistern. If both the taps are opened at the same time, then find the time taken to fill the cistern?

?CrY ek dohl ohl T X I dﬂ4|ﬁ7wﬁﬁmwéaﬁt¢w ohl ‘Hué% fou g X ol e T H
48 Tie o1 g0 oidT 2| AR ST Al ! Uk &1 G0 § WIeAT SITdT 2, a7 okl ol W § & dlel] 90

FIGEAISRI

1.9 minutes
2.8 minutes
3.7 minutes
4.14 minutes
5.1/7 minutes




The cost price of a cricket bat 1s 25x and that of one ball 1s 5x. The marked price of the bat and P\
ball 1s 20% and 100% more than the cost price, respectively. If the profit percentage on bat and
ball 1s 10% and 50%, respectively, then, find the overall discount percentage?

e fohehe St T ANTd Hed 25T|:|T3ﬁ'(k°hﬁ_<{°hl 5 TMT 8] Soed 3T T1E o Ffehd Hod ShUT: AT

T T 20% 3 100% TTrek 21 AT doet 31 Tig 9 o1 gfasra shasr: 10% 3K 50% 2, ar, el B
giasTd FTd hifsR?

1.12%
2.15.5%
3.12.5%
4.16%
5.NOT




The radius of a circle 1s one fourth of length of the rectangle. The circumference of the circle is
numerically equal to the area of a square of side 44 cm. What is the breadth of the rectangle if

its perimeter 1s 2912 cm?

T I CARPED] kR Sl TISITS T Ueh TS B El?r?ﬁqf{f‘?l H@qchob & 44 T 9SIT o 1

STHeT o a2 AT SR T IR 2912 et & 6 Ieehy Siters @ 2

1.112 cm
2.168 cm
3.196 cm
4.224 cm
5.NOT



